980602 - B2 Class - IX
<hdll - IX

SCIENCE

fagm

Time : 3 to 3Y2 hours Maximum Marks : 80
g : 39 3 5 AfRay A% : 80

Total No. of Pages : 16
| St WA : 16
General Instructions : £ T%ﬁ

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Distinguish between a mullet and a prawn.

State the property involved in the process of separation of 2 immiscible liquids.

What does the slope of a velocity-time graph represent ?

State two factors on which the gravitational force between two objects depends.

List any two advantages of crop rotation.

Mention any two functions of the endoplasmic reticulum.

(a) Identify the region of the stem marked ‘A’ in the diagram given below and the
type of simple permanent tissue found in this region.

(b) Mention any two characteristic features of the cells found in this tissue.

Giving one example each distinguish between uniform acceleration and non-uniform
acceleration.

Calculate the force which produces an acceleration of 3m/s? on a body of mass 20 g.
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Represent the given data graphically.

TIME (IN SEC) | DISTANCE (M)
0 0
2 5
4 10
6 20

Distinguish between thrust and pressure and state their S.I. units.
Tabulate any 2 differences between mixtures and compounds.
List three state of matter. Which state of matter is rigid ? Why ?

Draw the adipose connective tissue.

Mention one region in the body where this tissue is present and state one function
of this tissue.

The black and white dots in the picture below are an indication of two different
types of crop plants, identify the cropping pattern shown in figure ‘A” and “B’.
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(b) Mention any two advantages of such cropping patterns.
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(@) Why would a cattle breeder choose to cross breed a Jersy cow with a Red
Sindhi ? State two reasons.

(b)  Why should weeds be constantly removed from cultivated fields ?

Give reasons for the following.

(a) Thermometer reading remains constant for a while during melting of a solid even
though we continue to heat the solid.

(b) We are able to sip hot tea faster from a saucer rather than a cup.

(c) Earthen pitchers are used to cool water.

Name the type of colloids in each in which dispersed phase and the dispersing medium
are respectively :

(a) liquid and gas.
(b) liquid and liquid.
(c) liquid and solid.

Give one example of each.

(a) An object travels 16 m in 4 seconds and the next 16 m in 2 seconds. Calculate the
average speed of the object.

(b) Give an example of an object moving under uniform circular motion.

(a) Give reasons for the following.
(i) Itis advised to tie any luggage kept on the roof of a bus with a rope.
(i) A gun recoils after it is fired.

(b) Define momentum of an object.

What happens to the gravitational force between two objects ? if :

(a) the mass of one object is doubled,
(b)  the distance between the objects is doubled,

(c) the masses of both objects are doubled and the distance between them is also
doubled.
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22.

State Archimedes principle and list its two applications.

Differentiate between.
(i) the functions of RER and SER.
(i) plasma membrane and cell wall.

What is endocytosis ?

Differentiate between :
(i) nucleus and nucleoid
(ii) plant cell and animal cell

What is osmosis ?

Compare true solution, suspension and colloids in terms of :
(i) filterability (ii) stability

List two factors which bring about a change in the state of matter say, gas to
liquid.

OR
Write any three differences between a physical change and a chemical change.

When is a solution said to be saturated ? How can you change a saturated solution
to unsaturated without adding any more solvent to it ?

Define S.I. unit of force.

Mention any two effects of force.

A body of mass 60 kg has a momentum of 300 kg m/s. Calculate its velocity.
Why does a carpet beaten with a stick releases dust ?

OR

State Newton’s three laws of motion. Explain how the second law gives a measure of
force.
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SECTION - B

Which one of the following food material will not give a blue-black colour on the
addition of iodine ?

(a) rice (b) sugar (c) wheat (d) potato

Govind wanted to test the adulteration of tur (arhar) dal. He washed a few grains of
dal with water which turned yellow. He then added a few drops of HCI. The yellow
water turned pink in colour. This showed that the dal was adulterated with :

(a) metanil yellow. (b) metanil orange.

(c) methyl yellow. (d) methylene yellow.

Human cheek cells are usually stained using :

(a) methylene blue. (b) safranin. (c) acetocarmine. (d) eosine.

A temporary mount of a tissue is made in :

(a) water. (b) alcohol. (c) glycerine. (d) glucose.

A teacher focused the slide given below under a compound microscope. Which student
identified it correctly ?

Sheela identified it as cheek cells.
Madhu identified it as squamous epithelium.
Balaji identified it as parenchyma.

Shanti identified it as onion peel.
In the cells of an onion peel the nucleus is seen :

(a) in the centre of the cell (b) in the corner of the cell

(c) near the plasma membrane (d) on one side of the cell
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On heating iron filing with sulphur powder a greyish black product is obtained while
on adding water to quick lime a large amount of heat is evolved. From these observation
it can be interpretted that these changes respectively are :

(a) physical change, chemical change.
(b) chemical change, physical change.
©

(d) both chemical change.

both physical change.

While determining the boiling point of water pumice stone pieces are added to :
(a) spread the heat uniformly.
(b) prevent loss of heat energy.
(c) tungsten avoid bumping.
(

d) copper avoid cracking of the glass container.

On heating copper sulphate crystals the observation made is :

(a) brown fumes are evolved.

b) a crackling sound is produced.
)

(
(c
(

water droplets are collected on the cooler side of the test tube.

d) blue residue is left.

A mixture of iron filings and sulphur powder was taken in a test tube and sulphuric
acid was added to it. The observation made was :

(a) only iron reacts to give hydrogen gas.
(b)
(©)

(d) both combine to form iron sulphide.

only sulphur reacts to give hydrogen sulphide gas.
both iron and sulphur give out hydrogen gas.

A student by mistake mixed iron filings and sulphur powder. What should he add to
separate the mixture ?

(a) Boiling water.
(b) Carbon di sulphide.
(©)

(d) Cold water.

Kerosene.
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Which of the following characteristic of iron sulphide and a mixture of iron filings and
sulphur powder is correct ?

Both are heterogeneous.
Both are homogeneous.

Iron sulphide is homogeneous but the mixture of iron filing and sulphur is
heterogeneous.

Iron sulphide is heterogeneous while the mixture of iron filing and sulphur is
homogeneous.

The technique used to separate a mixture of ammonium chloride and sand is :
(a) filtration.

(b) sublimation.

(c) crystallisation.

(d) sedimentation.

A beam of light is passed through soap solution, sugar solution and starch solution. In
which of the following solutions the path of light is visible ?

(a) Soap solution only.
(b)

(c)  Starch solution only.
(d) All of the above.

Soap solution and starch solution.

When we heat a mixture of iron and sulphur for a short time and then move a magnet
over it, the observation made is :

(a) iron gets attracted.

(b) sulphur gets attracted.

(c) iron and sulphur both get attracted.

(d) iron, sulphur as well as the product formed all get attracted.

What happens when we start heating a mixture of sulphur powder and iron filings ?
(a) sulphur starts melting.

(b) iron filings start melting.
() mixture becomes red hot.
(d) mixture evaporates.
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